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1. Candidate must write his/her Roll Number on the first page of the
question paper.

2. Please check the question paper to verify that the total pages and total
number of questions contained in the question paper are the same as
those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the
four alternatives given in the question i.e. (A), (B), (C) or (D) and
indicate your correct answer in the answer-book given to you sepa-
rately.

4. Making any identification mark in the answer-book or writing roll number
anywhere other than the specified places will lead to disqualification
of the candidate.

5. Write your question paper code No. 40/S/A on the answer-book.

6. Answers for questions, like matching, true or false, fill in the blanks, etc.,
are to be given in the answer-book given separately.

This question paper consists of 5 questions and 8 printed pages]

bl iz'u&i= esa 5 iz'u rFkk 8 eqfÊr i`"B gSa ]

P.T.O.
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lkekU; vuqns'k %µ

1. ijh{kkFkhZ iz'ui= ds igys i`"B ij viuk vuqÿekad vo'; fy[ksa A

2. œi;k iz'ui= dks tk°p ysa fd iz'u&i= ds dqy i`"Bksa rFkk iz'uksa dh mruh gh la[;k

gS ftruh izFke i`"B ds lcls ≈ij Nih gS A bl ckr dh tk°p Hkh dj ysa fd iz'u

ÿfed :i esa gSa A

3. oLrqfu"B iz'uksa esa vkidks pkj fodYiksa (A), (B), (C) ;k (D) esa ls dksbZ ,d mŸkj

pquuk gS rFkk nh xbZ mŸkj&iqfLrdk esa vki lgh mŸkj fyf[k, A

4. mŸkj&iqfLrdk esa igpku&fp  cukus vFkok fufnZ"V LFkkuksa ds vfrfjDr dgha Hkh vuqÿekad

fy[kus ij ijh{kkFkhZ dks v;ksX; Bgjk;k tk;sxk A

5. viuh mŸkj&iqfLrdk ij iz'ui= dh dksM la[;k 40/S/A fy[ksa A

6. feyku (eSfpax)] lR; vFkok vlR;] fjDr LFkku bR;kfn laca/kh iz'uksa ds mŸkj vyx

ls nh x;h mŸkj&iqfLrdk esa nhft;sA
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WORD PROCESSING (MS-WORD)
(Theory)

oMZ izkslsflax (,e ,l&oMZ)
(flºkUr)

(219)

Time : 2 Hours] [Maximum Marks : 40

le; % 2 ?kaVs] [iw.kk±d % 40

Note :— All questions are compulsory and carry marks as indicated against

each question.

lHkh iz'u djus vfuok;Z gSa rFkk muds vad izR;sd iz'u ds lkeus vafdr gSaA

1. Fill in the blanks : 1×10=10

fjDr LFkkuksa dh iwfrZ dhft;s %

(a) .................. is at the lowest end of the computer range in

terms of storage and speed.

LVksjst rFkk LihM ds lanHkZ esa-----------------------dEI;wVj jsat ds lcls fupys fljs

ij gksrk gSA

(b) .................. generation computer used thermion valves.

-----------------------ih<+h dEI;wVj esa FkfeZvkWu okYo iz;ksx gksrs gSaA

(c) .................. memories are accessed much faster than conventional

RAM.

---------------------------------------------eseksjh dUosU'kuy RAM dh rqyuk esa vf/kd 'kh?kzrk ls o`fº

gksrh gSA



219/40/S/A 4

(d) The binary system has only two values.................. & .................. .

ckbujh flLVe esa dsoy nks eku-----------------------rFkk-----------------------gksrs gSaA

(e) The concept of Artificial intelligence has been introduced

in............................generation.

œf=e cqfº dh vo/kkj.kk dk izknqHkkZo-----------------------------------------ih<+h esa gqvkA

(f) GUI stands for.................. .

GUI dk iwjk :i-----------------------gSA

(g) MS Word is the part of the bigger package called................... .

MS oMZ vf/kdrj cM+s iSdst dk fgLlk gksrk gS] tks--------------------------------dgykrk gSA

(h) .................. is the keyboard short-cut to move to the next

word of the sentence.

okD; ds vxys 'kCn rd igq°pus dk dh&cksMZ 'kkWVZ&dV-----------------------------------

gSA

(i) Find and Replace option is under.................. menu.

---------------------------------esuw ds vUrxZr QkbUM rFkk fjIysl vkWI'ku gksrk gSA

(j) .................. alignment, aligns the selected text to the centre

of the page.

--------------------------------------------,ykbuesUV] ist ds dsUÊ eas lsysDVsM VsDLV dks ,ykbu djrk

gSA
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2. Select the right answer from (A), (B), (C) or (D) : 1×5=5

(A), (B), (C) vFkok (D) esa ls lgh mŸkj dk p;u dhft, %

(a) Floppy disk is an example of :

(A) Input Device (B) Output Device

(C) Storage Device (D) Both (A) and (B)

∂ykWih fMLd mnkgj.k gS %

(A) bUiqV fMokbl dk (B) vkmViqV fMokbl dk

(C) LVksjst fMokbl dk (D) (A) rFkk (B) nksuksa dk

(b) For double line spacing press :

(A) Ctrl+2 (B) Alt+2

(C) Ctrl+D (D) Shift+2

Mcy ykbu Lisflax ds fy, nck;sa (izsl djsa) %

(A) Ctrl+2 (B) Alt+2

(C) Ctrl+D (D) Shift+2

(c) VDU is an example of :

(A) Input Device (B) Output Device

(C) Storage Device (D) Both (A) and (B)

VDU mnkgj.k gS %

(A) bUiqV fMokbl dk (B) vkmViqV fMokbl dk

(C) LVksjst fMokbl dk (D) (A) rFkk (B) nksuksa dk
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(d) VLSC was introduced by :

(A) First Generation (B) Second Generation

(C) Third Generation (D) Fourth Generation

VLSC dk lw=ikr gqvk %

(A) izFke ih<+h }kjk (B) f}rh; ih<+h }kjk

(C) r`rh; ih<+h }kjk (D) prqFkZ ih<+h }kjk

(e) Which is not included under Format menu ?

(A) Columns (B) Borders

(C) Tabs (D) Header & Footer

QkWesZV esuw ds vUrxZr dkSulk lfEefyr ugha gS \

(A) dkWyEl (B) ckWMZlZ

(C) VSCl (D) gSMj rFkk QqVj

3. Match the following : 1×5=5

(a) Select all (i) Ctrl+Y

(b) Redo (ii) Ctrl+A

(c) Monitor (iii) Input Device

(d) Scanner (iv) Ctrl+F2

(e) Print Preview (v) Output Device
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fuEufyf[kr dks lqesfyr dhft, %

(a) lsysDV vkWy (i) Ctrl+Y

(b) fjMks (Redo) (ii) Ctrl+A

(c) ekWuhVj (iii) buiqV fMokbl

(d) LdSuj (iv) Ctrl+F2

(e) fizUV fizO;w (v) vkmViqV fMokbl

4. State whether the following statements are True (T) or False (F) : 1×10=10

(a) By Default MS Word aligns all the text as Right Align.

(b) MS word is a popular word processor.

(c) Sort option is available in Format menu.

(d) Ctrl+P is the keyboard short-cut for print preview.

(e) Files once deleted in Windows cannot be restored.

(f) Maximum limit for file name in Windows 95 is 255 chars.

(g) A computer is free from tiredness, lack of concentration, fatigue

etc.

(h) Decimal Number system has numbers from 1 to 10.

(i) Each cell of memory contains 1 character or 1 byte of data.

(j) Title bar is displayed at the bottom of the MS Word window.

crkb, fd fuEufyf[kr esa ls dkSuls dFku lgh (T) gSa vFkok xyr (F) %

(a) fMQkYV }kjk MS oMZ lHkh VsDLV jkbV ,ykbu ds :i esa ,ykbu djrk gSA

(b) MS oMZ ,d ikWiwyj oMZ izkslslj gSA

(c) QkWesZV esuw esa lkWVZ (sort) vkWI'ku miyC/k jgrk gSA
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(d) fizUV fizO;w ds fy, Ctrl+P dh&cksMZ 'kkWVZdV gSA

(e) Windows esa ,d ckj gVkbZ x;h (fMyhfVM) QkbYl jhLVksj ugha dh tk ldrh

gSaA

(f) Windows 95 esa Qkby use ds fy, vf/kdre lhek 255 chars gSA

(g) dEI;wVj FkdkoV] ,dkxzrk dh deh] foJkafr (Fkdku) vkfn ls eqDr gSA

(h) n'keyo la[;k iz.kkyh esa 1 ls 10 rd la[;k,° gksrh gSaA

(i) eseksjh ds izR;sd lsy esa MkVk dk 1 dSjsDVj vFkok 1 ckbV (byte) gksrk gSA

(j) MS oMZ fo.Mks dh cksVe ij VkbVy ckj iznf'kZr fd;k tkrk gSA

5. Short answer questions : 2×5=10

(a) Explain any two characteristics of Computer.

(b) What is Drop Cap ? Which menu contains this option ?

(c) What are Registers ?

(d) What are the disadvantages of Floppy Disk ?

(e) Explain any two features of Word Processing.

y?kwŸkjh; iz'u %

(a) dEI;wVj dh fdUgha nks fo'ks"krkvksa dks le>kb;sA

(b) Drop Cap D;k gS \ ;g vkWI'ku fdl ehuw esa gksrk gS \

(c) jftLVj D;k gSa \

(d) Floppy Disk ds D;k nks"k gSa \

(e) Word Processing ds dksbZ nks y{k.k le>kb;sA
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